ﬂh |dentifying Change Visually Name:

Solve each problem. Answers
1) Tom spent $16.71 on candy at the mall. He gave the cashier atwenty dollar bill. How much change
should he get back? 1
; l‘ T :f_l ....... B
2.
3.
D.
2) Jerry bought $8.64 worth of groceries. He gave the cashier aten dollar bill. How much change
should he get back?
A. B .‘ TIE UNITED STATES OF AMERIC B
D.
3) Victor spent $7.33 buying some new toys. He bought them using a twenty dollar bill. How much
change should he get back?
A . l ‘ LE_!E:F;NITI-l]I,S’l'.‘\;'\;!?s‘;l;l‘--.\\\lﬁlllﬂ B .
D.
1-3 [67[33] 0
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ﬂh |dentifying Change Visually Name:Answer Key

Solve each problem. Answers
1) Tom spent $16.71 on candy at the mall. He gave the cashier atwenty dollar bill. How much change
should he get back? 1. A
L l‘ T :f_l ....... B
Y Y/ 2 C
3 A
D.
2) Jerry bought $8.64 worth of groceries. He gave the cashier aten dollar bill. How much change
should he get back?
A. B .‘ TIE UNITED STATES OF AMERIC B
D.
3) Victor spent $7.33 buying some new toys. He bought them using a twenty dollar bill. How much
change should he get back?
A . l ‘ LE_!E:F;NITI-l]I,S’l'.‘\;'\;!?s‘;l;l‘--.\\\lﬁlllﬂ B .
D.
1-3 [67[33] 0
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